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Guess Paper – 2011
Class – XI
Subject - MATHEMATICS 

Level of knowledge: Expert                                                                                                                                   Time allowed 1 hr.
Contents: 

All questions are compulsory.

Overwriting shall be rewarded no marks.

No use of calculators.
Q1. In how many ways can a student choose a programme of 5 courses if 9 courses are available and 2 specific courses are compulsory for every student.                                                                                                                                       5 marks

Q2. Prove that: 
                                                     nCr  +    nCr-1   =    n+1Cr                                                                                                                     5 marks                           
Q3. If tan(α + β )  =  ntan( α – β ),
                                              Show that: (n + 1)sin2β = (n – 1 )sin2α                                                                         5 marks

Q4. Prove by the principle of mathematical induction that for all n ε N.
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                                sinθ + sin2θ + sin3θ+……….+sinnθ  =      -------------------------------                                          10 marks
                                                                                                                      sin[image: image6.png]| D





Q5. IQ of a person is given by the formula

                                                  IQ  =  [image: image8.png]


,

here MA is mental age and CA is chronological age. If 80≤IQ≤140 for a group of 12 years old children, find the range of their mental age.                                                                                                                                                                5 marks

Q6. IF [image: image10.png]


m   , then find the least integral value of m.                                                                                             5 marks


Q7. In how many of the distinct permutations of the letters in MISSISSIPPI do the four I not come together? 5 marks

Q8. Find the independent of x, in the expansion of [image: image12.png]


18       ,   x > 0.                                                          5 marks
Q9. Show that  A [image: image14.png]NB=
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, need not imply B = C.                                                                                                 5 marks

Q10. Prove that the coefficient of xn in the expansion of ( 1+ x )2n  is twice the coefficient of x2 in the expansion of 

          ( 1 + x )2n-1  .                                                                                                                                                                5 marks
Q11. Prove that,  sin2β = [image: image18.png]sin2a + sin2Zi
1+ sin2asin2a



  ,

                                                                 if given that tanβ = [image: image20.png]tana + tand
1+ tanatana








   5 marks
Q12. Draw the graph of followings inequations:

    x+ 2y ≤ 10 , x + y[image: image22.png]


1, x – y ≤ 0, x≥0, y≥0                                                                                                            5 marks  
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